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1 PRUIMACI RIZENI - 2021 - VYSLEDKY
Body
2 —_—
. >
2 T a
‘= rjimaci z
] Sl % = v 3
| s <
'S g Cesky jazyk Pohovor celkem i
4 5 ) n
o o
o
vysledek | U/N | vysledek | U/N
5
7 504 9 46 U 40 U 95,0 1. U pFijat
8 511 | 10 46 U 36 U 92,0 | 2. U pFijat
o | o [513 46 U 32 u | 850 | 3. U prijat
ol 8 | 509 8 42 U 32 u | 82,0 | 4. U pfijat
2
1| 2 | 510 36 U 36 u | 80,0 | 5. U prijat
i’ f; s02| 10 | 42 u 19 u | 71,0 | 6. u pfijat
13| | 508] 10 48 U 10 U 68,0 | 7. U prijat
|l @ | 506 9 40 U 15 U | 64,0 | 8. U pFijat
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is 512| 9 30 U 24 u | 63,0 | 9. U
16 507 | 7 44 U N | 54,0 N
17 503 | 10 32 U 0 N | 42,0 N




